: \ "V / C
g y
: ®
=z
o
(%]
z
s 7
==
SE
o=
I
qx & = <
EZ p 2 P P
=
gl.o
=
<+
[%]
E ﬁ OR
5 B) +
]
) E)orE)
—
1
[[p V
Max. SLAT SPAN (SEE SCHEDULE)

TYPICAL SINGLE UNIT ELEVATION

NOTE: SEE SHEETS 2 & 3 FOR COMPONENTS NOMENCLATURE.

4

Max. SLAT SPAN
™~ (SEE SCHEDULE) |

p W

/

0r@)

MAXIMUM MULLION HEIGHT
(SEE SCHEDULE)
)

|
)
1 ___

N

Max. MULLION SPACING|

(SEE SCHEDULE)

PW
¢ t

TYPICAL MULTIPLE UNIT ELEVATION

NOTE: SEE SHEETS 2 & 3 FOR COMPONENTS NOMENCLATURE.

NOTES:
(1) SEE SECTIONS ON SHEETS 4 THRU 7
(2) SEE SCHEDULES ON SHEETS 5 & 8

GENERAL NOTES:

1. ROLL UP SHUTTER SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2006 EDITIONS OF THE INTERNATIONAL BUILDING CODE,
(1.B.C.) AND INTERNATIONAL RESIDENTIAL CODE, (I.R.C.) WITH THE 2006 TEXAS REVISIONS, EFFECTIVE JANUARY 1, 2008.

ROLL UP SHUTTER SHALL BE INSTALLED AT SEAWARD AND INLAND AREAS, AS DEFINED BY THE TEXAS DEPARTMENT OF INSURANCE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE INTERNATIONAL BUILDING CODE, FOR A BASIC WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE SHUTTER WILL BE
INSTALLED, AND FOR A DIRECTIONALITY FACTOR Kd = 0.85, IN ACCORDANCE WITH ASCE 7—05 STANDARD.

ROLL UP SHUTTER ADEQUACY FOR IMPACT AND CYCLIC RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTIONS 1609.1.2 AND R301.1.3 OF THE ABOVE MENTIONED CODES RESPECTIVELY, AS PER
ARCHITECTURAL TESTING INC. REPORTS # 66443.02—109—18 & 78796.01—109—18, PER ASTM E 1886-02, E 1996—02 AND ASTM E 330—02 STANDARDS, CORRESPONDING TO MISSILE TYPE "D” AND WIND
ZONE 4. SEE NOTE * ON SHEET 4 FOR ADDITIONAL LIMITATIONS.

MAXIMUM DESIGN PRESSURE RATING SHALL BE AS INDICATED ON SHEET 5.

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY AND TEMPER (SEE SHEET COMPONENTS).

3. EVERY OTHER SLAT (INCLUDING BASE SLAT) SHALL INCLUDE ONE RETAIN SCREW ©, AISI 304 SERIES STAINLESS STEEL (SEE SHEET 2).

4. ALL SCREWS (EXCEPT COMPONENT # ©) TO BE STAINLESS STEEL 304 OR 316 AISI SERIES OR ITW BUILDEX CORROSION RESISTANT COATED CARBON STEEL TEK SCREWS, AS PER DIN 50018.
5. BOLTS TO BE ASTM A—307 GALVANIZED STEEL OR AISI 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM YIELD STRENGTH.

6. ANCHORS TO WALL FOR SIDE RAILS CONNECTION SHALL BE AS FOLLOWS:

(A) TO EXISTING POURED CONCRETE (MIN. f'c = 2899 psi) OR GROUT FILLED CELL ASTM C—90 CONCRETE BLOCK:
— 5/16"@ CARBON STEEL TAPCON XL ANCHORS, AS MANUFACTURED BY ITW/BUILDEX, INC.

NOTES:

A.1) MINIMUM EMBEDMENT OF ANCHORS INTO POURED CONCRETE OR GROUT FILLED CELL CONCRETE BLOCK IS 2 1/4". NO EMBEDMENT INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED
EMBEDMENT.

A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE FOUND ON THE EXISTING WALL ,ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE
BEHIND SUCH PANELS. MINIMUM EMBEDMENT SHALL BE AS INDICATED ON NOTE A.1 ABOVE.

(B) TO EXISTING WOOD FRAME WALL: MIN. SPECIFIC GRAVITY G = 0.46 OR G = 0.55 (SEE SCHEDULE)
— 1/4"¢ N.D.S. WOOD SCREWS.

NOTES:
B.1) MINIMUM THREADED PENETRATION OF ANCHORS INTO WOOD STUDS SHALL BE 3”.

B.2) ANCHORAGE SHALL BE PERFORMED BEYOND ANY FINISH MATERIAL AT WALL LIKE BRICK VENEER, STUCCO OR ANY OTHER FINISH. ANCHORAGE SHALL BE AS INDICATED ON NOTE B.1 ABOVE.
7. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR’S MANUFACTURER.
8. ANCHORS REQUIRED FOR MULLION CONNECTIONS SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS SHOWN ON SHEETS 6 & 7 RESPECTIVELY.

—5/8"¢ KWIK BOLT TZ EXPANSION ANCHOR TO BE AS MANUFACTURED BY HILTI, INC.
—1/2"¢ KWIK BOLT 3 EXPANSION ANCHOR TO BE AS MANUFACTURED BY HILTI, INC.

MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR AT ABOVE MENTIONED SHEET. EDGE DISTANCE AND EMBEDMENTS ARE BEYOND ANY FINISH
MATERIAL.
EMBEDMENT
GROUT FILLED OR

ANCHOR SPACING @ 100% EDGE DISTANCE @ 100% CONCRETE CONCRETE BLOCK
KWIK BOLT TZ 3" 4 1/4" 4" (3000 psi) -
KWIK BOLT 3 8" 4 - 31/2"

9. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE.
THIS SHUTTER SHALL ONLY BE ATTACHED TO POURED CONCRETE ,GROUT FILLED CELL CONCRETE BLOCK, AND WOOD FRAME BUILDINGS.

10. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION.

11. ROLL—UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY.

12. ROLL—UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.
13. (a) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT, BASED ON THIS P.E.D. PROVIDED
HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

(c) THIS P.E.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A PROFESSIONAL ENGINEER OR REGISTERED ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.)
FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D.
ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW.

(e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT PREPARED IT.

1.D.I. 2006
BARRACUDA I END RETENTION LG.
WALTER A. TILLIT Jr. P.E. ROLL—UP SHUTTER SYSTEM DRAWN BY
PROFESSIONAL ENGINEER
ALUTECH UNITED INC. 1071507
6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166 SEZSY‘Z’L{OE"V S s
PHONE (308) 871=1530 FAX (505) 871-1531 PHONE: (800) 233-1144, FAX: (302) 436-5100 07-263
TEXAS LIC. # 90691 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
| o ows 07-117 [19/1500]_3
2| miE ook J Pef |i1/25008 < SHEET 1 OF &




083"

.030” x 0.393” SLOTS
@ 0.79” O.C. ® o
2.992” & 0397
.085".846” 118" g pn 1227 |
, 2.940”
. 178 118" [-172 N = 1o o
1.931 —— L R m: ] ~ uu%
| . loss[- ==1 ] . ] s U] I g 7
QT 18 (.778" '4313.778” 7'000-55\8" 075|278 -774" 'ﬁﬁ '
—J I
r
—1.119" 814”7 1.007"— L.772” 959" 930" —
OPTION #1 OPTION #2
SLAT RETAIN SCREW
0003 T JLUMINGM ALLOY SIDE RAIL (1 EVERY OTHER SLAT INCLUDING BASE SLAT
6063-T5 ALUMINUM ALLOY AND SHALL BE INSTALLED W/4 0.576” MIN. SLIP AS SHOWN ON SECTIONS)
- SCALE: 3/4" = 17 AISI/SAE 304 SERIES STAINLESS STEEL
SCALE: 3/4” = 1"
.250"
.250" (TYP.)
(me.) 6.000 4.000" s | | 30007 Json | | %0007
re) 1 [ (e )| |
[
——3.000"— ——3.000"—
** \%4.000" ‘
4.000”
1/} 1/} n
. _ A1/ Ix3'x1/4" INSIDE (EY) 35351/4" ALTERNATE
4'x6" MULLION. 24 XT3 MOUNT ANGLE
505375 ALUMINGH ALLOY | TERNATE MULLION INSIDE MOUNT TUBE
SCALE: 3/8" = 1” 6063—T6 ALUMINUM ALLOY 6061-T6 ALUMINUM ALLOY 6061—T6 ALUMINUM ALLOY
SCALE: 3/8" = 1” SCALE: 3/8" = 1”7 SCALE: 3/8" = 1”
g 2.000” g 2.000”
( ) Max. ( ) Max.
| | COMPONENTS
\ﬁz.ooo"a\ | 3.000" |
T.D.I. 2006
@BU/LD—OUT TUBE @BU/LD'OU T TUBE BARRACUDA I END RETENTION LG,
p——— IR ALTERNATE WALTER A. TILLIT Jr. P.E. ROLL—UP SHUTTER SYSTEM DRAWN BY
SCALE: 3/8" = 1" (SEE SHEET 5 FOR REOUIRE;MENTS To PROFESSIONAL ENGINEER ALUTECH UNITED /NC 10/15/07
ANCHORS SPACING, ° DATE
7 O VRGNIA CARDENS, 1 35165 (15 owoN STREET
PHONE (305) 871=1530 fAX (305) 871=1531 PHONE: (800) 2331144, FAX: (302) £36-5100 07-263
TEXAS LIC. # 90691 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
e A Sveer 2 or




el 0
NPE 9 :
B ]()-,
Wp : 9
L
el
IS
DE Ly
MY
W 4 3
PE 3
WpE I
\
NPE 3 : N A @
NPE 8 : To»
RF’E N L9
PE & : 8"
WPE N )
Moy
Tped D
WPE 3 g
NP
PE | : 5
‘4

RV 90 HOUSING

RV 45 & RV 45/

HOUSINGS

45° CHAMFER
AS APPLICABLE

(M) BOX COMPONENTS AND ASSEMBLY DETAIL

END CAP SYSTEM
(SEE NOTE 11 ON SHEET 1)

N
33
STUB DETAIL \ g
(N. T. S.)
@ SIDE CAPS: -

AS APPLICABLE

COMPONENTS FOR GEAR OPERATED SYSTEM

GEAR

UNIVERSAL & CRANK

CRANK HOLDER(OPTIONAL)

GEAR INSERT(GEAR TO AXLE CONNECTOR)
IDLER INSERT

BALL BEARING
OCTAGONAL AXLE *
ENTRY GUIDES

SIDE/END CAP * (SEE NOTE 11/1)

* SHALL BE CAPABLE TO SUSTAIN SLAT'S
WEIGHT AND ASSURE LIFTING MECHANISM

HOUSING(FRONT & BOTTOM), 0.040” THICK
SIDE RAIL
PLUG—BUTTOMS
ALUMINUM SLATS

BASE SLAT

PLASTIC STOPS(OPTIONAL)
SIDE LOCKS(OPTIONAL)
STAPLES(OPTIONAL)
SPRINGLOCK HANGER
SAFETY PLATES
ADDITIONAL COMPONENTS FOR
MOTORIZED OPERATED SYSTEM

— TUBULAR MOTOR
— MOTOR BRACKET

— SWITCH

FASTENERS

@3 - 3/16” ALUMINUM POP RIVETS(6 REQ'D EA.
SIDE CAP) : 2 @ TOP, 2 @ REAR, 2@ BOTTOM

PHONE: (800) 233—1144, FAX: (302) 436—5100

TEXAS LIC. # 90691 REV. No DESCRIPTION DATE | REV. No

DESCRIPTION DATE

T.D.I. 2006
BARRACUDA I END RETENTION LG.
WALTER A. TILLIT Jr. P.E. ROLL—UP SHUTTER SYSTEM DRAWN BY
PROFESSIONAL ENGINEER
ALUTECH UNITED INC. ’Ogggw
6355 N.W. 36 STREET, STE. 305 15 DIXON STREET
VIRG GARDENS, FL 33166
PHONE (Jcl75)”\gA71—/4 75JONFAXL(JO5’) 871-1531 SELBTVILLE, DE 19975 07—263

DRAWING No

! OLD DWG 07-117 |10/15/07] 3

2 TITLE BLOCK / P.EF 111/25/08] 4

SHEET 3 OF 8




5/16"¢ TAPCON XL
(SEE SCHEDULE ON SHEET 5)

(OPTIONAL)

4” Min.
E.D. REQ'D

j POURED CONCRETE OR

#12x3/4" —]
GROUT FILLED CELL ITW TEK SCREWS
| CONCRETE BLOCK \ @ 4” 0.C.

_ WALL REQ'D. %

5/16"¢ TAPCON XL
(SEE SC-/E’DULE ON SHEET 5)

1.500"

W
SN\

4” Min.
E.D. REQD

POURED CONCRETE OR

OPEN HOLE AND

_|.576"|_
COVER W/ NYLON CAP

SLIP

SLIP

SECTION P-P (1): WALL MOUNT

_|.576" |._

OPEN HOLE AND
COVER W/ NYLON CAP

GROUT FILLED CELL
CONCRETE BLOCK
WALL REQD.

SECTION P-P (2): INSIDE MOUNT

1/4"¢ WOOD SCREWS

(3) OR (2) 2"x6” STUDS t
(SEE SCHEDULE ON SHEET 5)

REQUIRED @ JAMB
(SEE SCHEDULE ON SHEET 5)

SIDE RAIL CONNECTIONS

5/16"8 TAPCON XL
(SEE SCHEDULE ON SHEET 5)

4" Min.
E.D. REQD

POURED CONCRETE OR
GROUT FILLED CELL
CONCRETE BLOCK

AL REQ'D. %

©or
FULL HEIGHT

(SEE SCHEDULE ON SHEET 6)

OPEN HOLE AND —
COVER W/ NYLON CAP

—|.576” |
SLIP

Lopen HoLe
COVER W/

#12x3/4”
ITW TEK SCREWS
@ 4” 0.C.

s O

AND
NYLON CAP

SECTION P-P (3): BUILD-OUT

TO POURED CONCRETE OR GROUT FILLED CELL CONCRETE BLOCK WALL
(SEE MAX. SLAT SPAN SCHEDULE ON SHEET 5)

SCALE : 3/8" = 1”
(3) OR (2) 2"x6” STUDS t
REQUIRED @ JAMB

1/4’ WOOD SCREWS (SEE SCHEDULE ON SHEET 5)

(SEE SCHEDULE ON SHEET 5)

D (OPTIONAL)

#12x3/4"
ITW TEK SCREWS
@ 4" o.C.

1.50"—

E.D.

27 Min:

OPEN HOLE AND

576"
COVER W/ NYLON CAP

SLIP

SECTION P-P (1): WALL MOUNT

SECTION P-P (2): INSIDE MOUNT

SLIP

OPEN HOLE AND
COVER W/ NYLON CAP

576" |

\9’—0 Max. HIGH

WALL W/ 7°—0 Max.

T MULTIPLE STUDS TO BE FASTENED TO EACH OTHER W/ 2—-#14x3" F.H.

OPENING HEIGHT (TYP).

(3) OR (2) 2°x6” STUDS 1
REQUIRED @ JAMB
(SEE SCHEDULE ON SHEET 5)

% NOTE:

IT SHALL BE THE RESPONSIBILITY OF THE
CONTRACTOR TO VERIFY THAT EXISTING STRUCTURE
IS DESIGNED TO SUPPORT Vx=971 Lb/FT AND
Vy=1/2xDESIGN LOAD(psf)xSHUTTER SPAN(ft)
FORCES PER UNIT FOOT OF SHUTTER HEIGHT AT

BOTH JAMBS.

Vy

Vy

—
I

Vx

1/4”¢ WOOD SCREWS
K(SEE SCHEDULE ON SHEET 5)

RN

1

@or

FULL HEIGHT

COVER W/

2" Min. L
.D,
LJ;
o
@x<%makma»
OPEN HOLE AND — L #12x3/4”
NYLON CAP ITW TEK SCREWS
@ 4” 0.C.

SECTION P-P (3): BUILD-OUT

SIDE RAIL CONNECTIONS

576" |
SLIP

'

OPEN HOLE AND

COVER W/ NYLON CAP

T.D.I. 2006
WOOD SCREWS @ 4” 0.C. FULL HEIGHT, FOLLOWING A SEQUENCE FROM TO WOOD FRAME WALL parracuDa I END RETENTION i
.C. E _ DRAWN BY
FIRST JO JAST STUD. ALTERNATIVELY, USE 17270 THRU BOLTS @ 8" 0.0 (SEE MAX. SLAT SPAN SCHEDULE ON SHEET 5 e oressionst Encneeh ROLL-UE SHUTTER SYSTEM
W/ NUT & WASHER FROM FIRST TO LAST STUD. : ,, . ) ALUTECH UNITED INC 10/15/07
CONNECTION OF MULTIPLE STUDS TOP & BOTTOM SHALL RESIST SCALE « 3/8" = 1 5355 NW. 36 STREET. STE. 305 : DATE
A HORIZONTAL REACTION OF 1600 LB. DESIGN OF THIS CONNECTION VIRGINIA GARDENS, FL 33166 15 DIXON STREET
IS BY PROFESSIONAL OF RECORD FOR THE STRUCTURE. PHONE (305) 871-1530 FAX (305) 8711531 PHONE. (500)5?35;1/%52 ” X’_gzgz) 23625100 07—263
TEXAS LIC. # 90691 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
1 OLD DWG 07—117 |10/15/07] 3
7| me plock / pef 11725708 4 SHEET 4 OF &




0or

#12x3/4”
ITW/BUILDEX
TEK SCREWS
@ 4” 0.C.

OPEN HOLE AND
COVER W/ NYLON CAP

—|.576" |

SLUP

SECTION Q-Q (1): (END MULLION)

FACE MOUNT (MULLION ORIENTATION # 1)

OPEN HOLE AND
COVER W/ NYLON CAP

#12x3/4”
ITW,/BUILDEX
TEK SCREWS
@ 4" o.C.

#12x3/4”
ITW,/BUILDEX
TEK SCREWS
@ 4” 0.C.

—

(OPTIONAL)

#12x3/4”
ITW/BUILDEX—
TEK SCREWS
@ 4” 0.C.

3/8"¢ THRU BOLT
@ 4” o.c.

=

576" |
SuP

SECTION Q-Q (1): (END MULLION)

YN rEi

FACE MOUNT (MULLION ORIENTATION # 2)

—|.576" |
SuP

SECTION R-R (1): (INTERIOR MULLION)

OPEN HOLE AND
COVER W/ NYLON CAP

| .576" |
SLIP

576"

o OPEN HOLE AND

COVER W/ NYLON CAP
SECTION Q-Q (3): (END OR INTERIOR MULLION)

INSIDE MOUNT(MULLION ORIENTATION # 1 OR 2 AS APPLICABLE)

MAXIMUM ANCHOR SPACING SCHEDULE FOR INSTALLATIONS INTO

CONCRETE OR GROUT FILLED CONCRETE BLOCK.

WALL TRAPPED BUILD-OUT

DESIGN LOAD|gpan @ | MOUNTING | MOUNTING | MOUNTING
(P.S.F) POURED] GROUT [POUREDJGROUT [POURED[GROUT
conceTe| FILLED leoncrere FILLED Jeoncrere FILLED

60" - - - m " m

+45, —45 >6-0"To 7-0"| 4" 4" 4" 4 4" 4
s70rTo12:0"| 4 | 4" 4 | a4 |0 330| 03347

o0 " - " - " -

+50, -50 >6-0" TO 7-0" 4" 4" 4" 4 4" 4

0 REQUIRES INSTALLATION TO BE PERFORMED ONLY W/@ (2"x3"x1/8")

B.0. TUBE.

MAXIMUM ANCHOR SPACING SCHEDULE FOR INSTALLATIONS

INTO WOOD FRAME BUILDINGS.

WALL TRAPPED BUILD-OUT

DESIGN LOAD|gpan L (f) MOUNTING MOUNTING MOUNTING
(P.S.F) G=0.46| G=0.55 | G=0.46| G=0.46 | G=0.46| G=0.55

<6-0" 4" 4" 4" 4" 4" 4"

+45, =45 |.e0'TO70"| 4 4" 4" 4" 4" 4"
>7-0"TO 120" 3" | 31/2" 4" 4 P20 3120

<6-0" 4" 4" 4" 4" 4" 4"

+50, =50 >6-0"TO 7-0"| 4" 4" 4" 4" 4" 4"

O ALTERNATIVELY, MAX. SPACING MAY BE 3" o.c. IF B.O. TUBE

(2"x3"x1/8") IS USED IN LIEU OF@(z"xz"x1 /8.

FACE MOUNT (MULLION ORIENTATION # 2)

SIDE RAIL CONNECTIONS TO MULLIONS

(SEE SLAT SPAN SCHEDULE)

SCALE: 3/8" = 1”
L
[= =]
SLAT SPAN DEFINITION

MAXIMUM SLAT SPAN "L" (ft) SCHEDULE.

DESIGN LOAD REQUIRED MAX. SPAN REMARKS
(P.S.F) SUBSTATE LT (FT.)
- LIMITED TO SHUTTER HGT
+35, —35 WooD 6’0 (W/0 BOX) UP TO 84" t
W/ (2) 2x6 STUDS EA. JAMB
POURED CONCRETE OR . . *
GROUT FILLED CONC. 12'-0 SEE NOTE ™ ON SHEET 4
BLOCK.
. LIMITED TO SHUTTER HGT
+45, —45 WooD 12'-0 (W/0 BOX) UP TO 54" t
W/ (3) 2x6 STUDS EA. JAMB
- LIMITED TO SHUTTER HGT
WOooD 6’—0 (W/0 BOX) UP TO 72" t
W/ (2) 2x6 STUDS EA. JAMB
POURED CONCRETE OR - *
GROUT FILLED CONC. 7'-0 SEE NOTE ™ ON SHEET 4
BLOCK.
+50, —50 o LIMITED TO SHUTTER HGT
WOOD 7'-0 (W/0 BOX) UP TO 84" t
W/ (3) 2x6 STUDS EA. JAMB

T FOR SHUTTER HEIGHTS LARGER THAN 547, SPECIAL AND SITE SPECIFIC
ENGINEERING WILL BE REQUIRED TO DETERMINE THE REQUIRED NUMBER

OF WOOD STUDS AT EACH JAMB, WHICH WILL EXCEED (3) STUDS.

1.D.I. 2006
BARRACUDA I END RETENTION LG,
WALTER A. TILLIT Jr. P.E. ROLL—UP SHUTTER SYSTEM DRAWN BY
PROFESSIONAL ENGINEER
ALUTECH UNITED INC. 10/15/07
6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166 SEZgY‘Z’L)ZOE"V S s
PHONE (308) 871=1530 FAX (505) 871-1531 PHONE: (800) 233-1144, FAX: (302) 436-5100 07-263
TEXAS LIC. # 90691 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
1 OLD DWG 07—117 |10/15/07] 3
2 TTLE BLOCK / P.EF 111/25/08] 4 SHEET 5 OF &




FOR 5/8"¢ KWIK BOLT TZ

o ~——4 1/4” Min. ED. 4 1/4” Min. ED——=—
17x2"x1/8" Alum. PLATE " Pouren concrete [ EXPANSION ANCHORS
W/ 1/4"¢x1 3/4” TAPCONS EDGE OF SLAB| (f'c = 3000 psi Min.) ) [EDGE OF SLAB
@ 12” o.c. FOR CONCRETE OR IF APPLICABLE 6" Min. THICK REQ'D 1 IF APPLICABLE
16" o.c. (TO EA. STUD) FOR WOOD //X/ I / é
* 1 ‘
1# I T ? — N | —2"— 107 . 1 1 /0"
1 13 —— | 1"x2"x1/8” Alum. PLATE i /= = =V
* =, | - o~ W/ 1/4"¢ TAPCON i [
| \ \ / A ANCHORS @ 12” 0.C. @ 3 @ 5
3"5 i 7 - " H | | ( [ /\ @\ [(T1 ™ [
I
z L N / @\ EXTERIOR
= ga%T%NG I - 1 N 3"x3"x1/2"x0’ 86" 4” EXTERIOR
4 3 | \ / r 6 (6061-T6 ALLOY)
4 Ex ”\L Min. T \ . ¢ 3"x3"x1/2"x0'—4" Alum. ANGLE EA. SIDE W/
25 I (6061-T6 ALLOY) (2) 1/2"¢ THRU BOLTS )
/ o OR I / | Alum. ANGLE EA. SIDE W/ TO MULLION D) & N | I(fh\l R 1'/2
POURED CONCRETE T (2) 1/2”s THRU BOLTS . (1) 5/8"¢ KWIK BOLT TZ &) i
OR WOOD HEADER = i | | 6 MOULLION (D) & T _CT|11/2 EXPANSION ANCHOR 11/2
REQD - | | | (1) 5/8"6 KWIK BOLT TZ @—‘r’ ) W/ 4” Min. EMBEDMENT - - !
=2 H ‘ ‘Aﬁl EXPANSION ANCHOR 11/2 TO POURED CONCRETE ~ 33"
= zZ5 I ‘ W/ 4" Min. EMBEDMENT ! (Typ. TOP & BOTTOM) .
? 5 &0 g i | | ? TO POURED CONCRETE )
H L ‘;z y y H | | y y (Typ. TOP & BOTTOM) 4
. P—P(1) Bl /5 ORR/S N Q/5 OR R/5 %
GLass P-r(z) s 2B 3% — A S TEROR SECTION X1-X1 W/(D) * ALTERNATIVE SECTION X1-X1 W/(D)
o A E
= . H (W/ ORIENTATION £ 1) (W/_ORIENTATION # 2)
o]
s m 47
=@ : Y || ¥ -
X1 | “f X1
(1YP. TOP/BOTIOM) | [ | . Top/s0rom) ’_L@ j EXTERIOR
I
O (! N
u ©_© roow . o
I » 3"%x3"x1/2"x0'—4 »
AN N\ N i 1Y AR (6061—T6 ALLOY) y
POURED CONCRETE \ Alum. ANGLE EA. SIDE W/
REQ'D /A/ / / (2) 1/2"¢ THRU BOLTS
f 4 TO MULLION LAY ==y u=p R
EDGE OF SLAB| POURED CONCRETE | EDGE OF SLAB (1) 5/8" KWIK BOLT TZ © :
WALL MOUNTING: NO MULLION CASE IF APPLICABLE gjcM_= 3$£8KPSF;E3AJB-) o~ rq IF APPLICABLE EVX/PAES'&N ASSBHSE';’MENT 11/2"
n. * * n. t
SECTION V-V . W A g FOR 5/8°¢ KWIK BOLT TZ T0 POURED CONCRETE ]
4 1/4” Min. E.D. 4 1/47 Min. ED.——==—EypANSION ANCHORS (Typ. TOP & BOTTOM)
FLOOR TO CEILING / TRAPPED MOUNTING : MULLION @OR @ m ¥
SECTION W-1 SECTION X1-X1 W/ (D1

* SIDE RAIL (B) NOT SHOWN FOR CLARITY.
IT GOES ON EXTERIOR SIDE OF MULLION.

END & INTERIOR TRAPPED MOUNTED MULLION INSTALLATION

SCALE: 3/16” = 17

T.D.I. 2006
BARRACUDA I END RETENTION LG.
WALTER A. TILLIT Jr. P.E. ROLL—UP SHUTTER SYSTEM DRAWN BY
PROFESSIONAL ENGINEER
ALUTECH UNITED INC. 10/15/07
6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166 SEZgY\E/’,’L)Zi_{\’ A
PHONE (308) 871=1530 FAX (505) 871-1531 PHONE: (800) 233-1144, FAX: (302) 436-5100 07-263
TEXAS LIC. # 90691 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
OLD DWG 07—117 10/15/07] 3
; TTLE BLOCK / PEF |11/25/08] 4 SHEET 6 OF &




POURED CONCRETE %oxnhf.uill__lgu_ %Fgg' <178 17x2°x1/8" Alum. PLATE 4 EDGE P APPLIABLER & EDGE IF APPLICABLE~
(f'c = 3000 psi MiN (TOP & BOTTOM) W/ W/ 1/4"ex3/4” i 4 1/4” Min. ED. FOR POURED CONCRETE & N 4 1/4” Min. ED. FOR POURED CONCRETE & ~f 2 -
6” Min. THICK REQ'D 1/4"8 TAPCONS @ 12" o.c. /TEK SCREWS @ 12” o.c. 4” Min. E.D. FOR GROUT FILLED CELL y 1, 4” Min. E.D. FOR GROUT FILLED CELL i
| x ] CONCRETE BLOCK (TYP. AT EA. SIDE) 2 CONCRETE BLOCK (TYP. AT EA. SIDE)
. D — , i ] EXTERIOR
#,, i 1} i }~ f :| 2T
: : \ e RN % | ]
11/4"
]J@ﬁ | / \\ POURED CONCRETE
i N ( (j POURED CONGRETE EXTERIOR g (fc = 3000 psi Min.) 4
31/2 6 \ J fe = 3000 o] MN
\ :I | . y 10 (f'c = psi Min.
‘ ~ —~ /) ] ]
- 2
| > || & % = | ®
41/4” EQ.—-EQ. | : . t . ] 4
Min. E.D. T 4" R >”
S | | \@ i v \@ |
- = ‘ T :| - — 1\ 4"x4"x3/8"
. END CAP z _— (6061—T6 ALLOY)
8 H‘N:m 4 \ 21 EDCE [F APPLICABLE Alum. ANGLE EA. SIDE.
= EXISTING ’
3 st | | Sl ganer (cos1 T Ao ALTERNATIVE SECTION X2-X2 W/(D)*
2 I | R Alum. ANGLE EA. SIDE. -
h® H ‘ ‘ EDGE IF APPLICABLE (W/ ORIENTATION # 2)
=z
LB ! | SECTION x2-x2 W/(D)*
= I | | (W/ ORIENTATION # 1) | EDGE IF APPLICABLE~
oL I \ T#ﬂ I \ \ 4 1/4” Min. E.D. FOR POURED CONCRETE & .
= | | ‘ H | | 4” Min. E.D. FOR GROUT FILLED CELL NI
8 I R, CONCRETE BLOCK (TYP. AT EA. SIDE)
2 (@OoRO)—— @OR T [ 2anienos i EXTERIOR
&0 I \ EXTERIOR h | ALUMINUM ANGLE [
2% m | ’ | SEE SHEET 8 FOR | | TO MULLION W/ o
Z W I MAX. ALLOWABLE HEIGHT. I ] i
gl i i i H | (Ei)#ﬂééZ)M S.D.S.
3 3 H | A o | C POURED CONCRETE
= Q/5 OR R/5 | | | Q/5 OR R/5 AN 1"x1"x1,/8"xCONT. ALUM ANGLE 8" (Fc = 3000 psi Min.) e
3 I [ 1 2"x2"x1/8"x0'=3" ALUMINUM ANGLE W g /2t SB.S. e 127 0.c.
= '_L \ oo ol TO MULLON W/ (3)#14x3/4" SD.S. ., | | RE
Z | EA. LEG. _ GROUT FILLED/\ o 47x4"x3,/8"x0'—10" (6061-T6 ALLOY) i
= Min.  CELL BLOCK | Alum. ANGLE EA. SIDE W/ 2" L]
3 340 1%1"x1/8"xCONT. ALUM ANGLE W/ ED.  REQD | / (2) 1/2”¢ THRU BOLTS TO MULLION | ] 4 @
MIN. E.D. , #14x1/27 SDS. @ 127 0.C. TO TUBE. & (2) 1/2"0 HILTI KWIK BOLT 3 F
1 a7 |- EXPANSION ANCHORS 2
& | = |1 W/ 3 1/2” Min. EMBEDMENT TO ‘ I
L ¥ ‘ 1S GROUT FILLED CELL BLOCK WALL. - —— —— - ?68‘(;1)(31'/68 o
6" p—
. | \ 3 o 1 (TYP. AT BOTTOM) EDGE IF APPLICABLE (ooe1-16 ALY ok
\ !
< - 1 © | < =7 | =4 SECTION x2-x2 W/ (D)*
X2  11/4 | L X2 & X2 N | e X2
(Y. TOR/EOTION \ ! (Y% ToR/EOTION | * SIDE RAIL (B) NOT SHOWN FOR CLARITY.
-EQ—EQ— 47x4"x3/8"x0'—6"(6061—T6 ALLOY) | 10 IT GOES ON EXTERIOR SIDE OF MULLION.
COURED CONCRETE Alum. ANGLE EA. SIDE W/ |
OURE -TE (2) 1/2"® THRU BOLTS TO MULLION
g,,"M; 3$$2KP§E2)",'B') & (2) 5/8°¢ KWIK BOLT TZ . ﬁ IIEE
in. EXPANSION ANCHORS . | *
W/ 4" Min. EMBEDMENT TO POURED - 14
CONCRETE WALL (TYP. TOP & BOTTOM
( ) WALL MOUNTING : MULLION (D) OR(D?)
WALL MOUNTING : MULLION (D)OR (DY) GROUT FILLED CELL CONCRETE BLOCK WALL o
POURED CONCRETE WALL -
SECTION W-W BARRACUDA I END RETENTION L.
SECTION W-2 WALTER A. TILLIT Jr. P.E. ROLL—UP SHUTTER SYSTEM DRAWN BY
PROFESSIONAL ENGINEER ALUTECH UNITED INC. oo
DATE
6355 N.W. 36 STREET, STE. 305
END & INTERIOR WALL MOUNTED MULLION INSTALLATION e o seLoyvLLE, oF 19975
PHONE (305) 871=1530 fAX (305) 871=1531 PHONE: (800) 233—1144, FAX: (302) 436-5100 07-263
SCALE: 3/16"= 1" TEXAS LIC. # 90691 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
T T e o




MAXIMUM MULLION HEIGHT (Ft) SCHEDULE FOR A GIVEN MAXIMUM DESIGN LOAD "W" (psf),

MULLION SPACING (Ft), TYPE OF MULLION AND 0.576" SLIP (in),

FOR INSTALLATION INTO POURED CONCRETE OR GROUT FILLED BLOCK

MULLION CONCRETE
SP?CSNG TRAPPED MULLIONS O WALL MOUNTED MULLIONS D 80K
ft
@ ny orewmarion #1* (=) | @wy orevrarow 2+ ([1)| MuLLion @) () (@) w/ orewmamon #1* &) | @) w/ oriewmnon #2* ([]) muLLion @7) (O)
DESIGN LOA
(p_s_f_) 61_0” 7)_0” 72}_0” 6)_0” 7’_0” 72}_0” 6’—0” 7)_0” 72}_0” 6’—0” 7}_0” 72’_0” 61_0” 7)_0” 72)_0” 6)_0” 7}_0” 72’_0)
12-0"/\11’-6"/ 7-8" /| 12=0"/|11"=0"/| 7°=3" N10-7"/] 9°=0" /| 5'~11"
+45’ _45 72:_0:: 77:_611 7;_971 72;_0:: 77:_011 7:_211 70:_7:; 9:_0;: 5:_77»
12°-0"|/11'=6" |/ 5'-6"| 12°=0"| 9 -9" | 4'—1 10-7"1/9'-0" |/ 51
127-0”/J10=11" 12'-0"/110"~4" 9-11"| 8-6"
+50, =50 120”0 —11 N/A |12=0"|10—4"| N/A |9°—11"| 8'~6| N/A N/A N/A N/A
12'=0"110°=11" 12’-0"| 8’8" 9'—11" 8'-6"
*SEE SHEET 5 FOR ORIENTATION OF MULLIONS DEFINITION.
I.D.l. 2006
BARRACUDA I END RETENTION LG.
WALTER A. TILLIT Jr. P.E. ROLL—UP SHUTTER SYSTEM DRAWN BY
PROFESSIONAL ENGINEER ALUTECH UNITED INC. 70?;??07
SUROhA CArDENS, FL 33165 15 DiXaw STREET
PHONE (305) 871-1530 FAX (305) 8711531 SELBYVILLE, DE 79975 07—263

TEXAS LIC. # 90691

PHONE: (800) 233—1144, FAX: (302) 436—5100

DESCRIPTION DATE

REV. No

DESCRIPTION DATE

DRAWING No

oLD

DWG 07-117

10/15/07]

2 TITLE

BLOCK / PEF

11/25/08]

SHEET 8 OF 8






